
Name of the Examination: Selection for the post of Sr. Clerk in level-5, GP 2800/-against 

66.67 % PRQ in mechanical/C&W dept. under Sr. DME/Co/SDAH. 

Full Marks /quri: 

Duration/ 3qfe 

Instruction for candidates / 3eti 

100 

All questions are multiple choices. Each question carries one mark. There is no negative mark for 

Wrong answer. 

Question no. 101 to 110 is Rajbhasa Questions are optional. 

Candidates have to attempts 100 questions out of 1 10. 

Q1. Russia is 

02 hours. 

(A) the 

Do not write anything on answer sheet disclosing your identity. Otherwise candidature will be 

cancelled. 

Candidate use only blue and black ball pen. 

Q2. The rain comes 

(A) in 

Any type of Cutting, Overwriting, Erasing or alteration of answer will not be accepted. Zero marks will 

be given for having correction and overwriting answer. 

Q3. The stars 

(A) can 

Any type of elecronic gadgets, mobile phone (even in switch off mode) are strictly prohibited in 

examination hall. If any candidates is found in possession of the above mentioned items during 

examination, his/her candidature will be summarily rejected. 

(A) what 

fä HRI: 

Q4. I don't know the city 

(A) men 

Eastern Railway 

Q5. The electricity is 

(A) cheap 
Q6. Plural number of man. 

largest country in the world. 

(B) a 
the cloud. 

... counted. 

(B) near 

(B) cannot 

(B) where 

Date/IÊ0: 23.07.2024 

he lives. 

(B) mans 

Time/ HY: 

than coal. 

(B) to cheap 

(C) an 

(C) from 

12:00 hrs. To 14:00 hrs. 

(C) cannot be 

(C) when 

(C) cheapest 

(C) woman 

(D) none 

(D) under 

(D) must 

(D) which 

(D) cheaper 

(D) manes 
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Q7. Amir Khan 

(A) is release 

08. Could is the past form of. 

(A) can 

Q9. Cut this apple 

(A) in 
Q10. English 

(A) speak 

Q11. The cat is hiding. 

(A) in 
O12. He is the ... 

(A) good 

(A) younger 
Q13. She plays piano. 

Q14. The book is 

(A) lays 

(A) or 

Q15. I don't like coffee, 

Q16. The car is 

(A) too fast 

(A) in. 
Q18. She enjoys 

Q17. She will sing a song 

(A) to work 

Q19. The book is 

(A) in 

new movie in next year. 

(B) will be release 

.all over the world. 

..that knife. 

(B) can be 

(A) dry 

(B) by 

....of the two brothers. 

(B) speaks 

Q20. The word wisdom is a 

the bed. 

(B) on 

(B) more young 

(B) well 

on the table. 

(B) laid 

tea. 

to drive. 

(B) and 

(B) very fast 

the party. 

(B) at 

in the garden. 

(B) working 
the shelf. 

(B) at 

(A) noun 

Q21. The antonym of the work 'insert 

(A) press. 

(B) adjective 

(B) Install 

Q22. Please pasS me... 

(A) the 

Q23. Meter is ..... unit of length. 
(A) the 

salt. 

(B) an 

(B) a 

Q24. Find the correct spell word. 

(A) administratian 

Q25. What is the synonym of the word 'sticky' 

(B) smooth 

(B) administrasion 

(C) going to release. 

(C) cannot 

(C) with 

(C) is speaking 

() under 

(C) young 

(C) goodly 

(C) lying 

(C) but 

(C) so fast 

(C) for 

(C) work 

(C) on 

(C) verb 

(C) delete 

(C) a 

(C) an 

(C) administration 

(C) unstick 

(D) will release 

(D) cloud 

(D) into 

(D) is spoken. 

(D) with 

(D) youngest 

(D) best 

(D) lay 

(D) so 

(D) fastly 

(D) with 

(D) worked 

(D) under 

(D) adverb 

(D) drive. 

(D) some 

(D) no article 

(D) adminissition 

(D) adhesive 
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Q26. Which one e is in feminine form ? 

(A) bee 

Q27. The watch cost is pretty peny means. 
(A) very cheap 

028. Plural form of 'deer 

(A) deer 

030. Which spelling is correct. 

(A) embarrassment 

029. The work 'tremendous' means. 

(A) bad 

031. Mr John is 

(A) a 

Q32. Every boy and girl 

(A) have present 
Q33. The News 

(A) were 

Q34. The stars 

(A) shines 

Q35. Pentagon 
(A) have 

036. 15696 is divisible by ... 

(A) 6 

037. V16 x v9 is equal to 

V16 x v9 qRIGR E|T 

(A) 7 

(A) 10 

(A) Rs 2400 

(B) deer 

Q40. 106x 106�94 x 94 =? 

(A) 2004 

(B) cheap 

Q41. 33, 37, 45, 61, ? 

(B) deers 

(A) 83 

(B) poor 

(B) archetech 

European. 
(B) an 

(B) are present 

not updated timely. 

(B) have 

Q38. What is the next prime number after 7 ? 

bright at night. 
(B) shine 

five sides. 

in the class today. 

(B) has have 

(B) 7 

(B) 11 

(B) 9 

(B) Rs 2500 

(B) 1904 

(B) 93 

(C) horse 

(C) very expensive 

(C) deerrs 

(C) terrible 

(C) cleavar 

(C) the 

(C) is present 

(C) is 

(C) has shine 

(C) has 

(C) 11 

(C) 13 

(C) 11 

(C) Rs 2600 

(C) 2400 

(D) bull 

(C) 63 

(D) expensive 

(D) deorn 

Q39. By selling a bicycle for Rs 2850 a shopkeeper gain 14%. What is the bicycle cost price. ? 

(D) excellent 

(D) stiky 

(D) no article. 

(D) had present 

(D) are 

(D) shining 

(D) had 

(D) 10 

(D) 12 

(D) 13 

(D) Rs. 2700 

(D) 1906 

(D) 92 
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Q42. 5,10,20, 40, 80 ? 

(A) 100 

Q43. What is the value of right angle ? 

(A) 180° 

Q44. The product of 131 x 0 x 14 x 24 

(A) 131 

131 x0 x 14 x 24 Ê H|H fol aII? 
(B) 14 

Q45. Solve 24 + 33 

B 

(A) 09 

24 +33 

(A) 346090 cm? 
Q47. What is 6% is equal to 

6% fo{co RIqY BTI 

(A) 0.6 

(B) 90 

GIs 5.23 + 8.79 

Q46. In a rectangle Length = 824 cm, Breadth = 420 cm. Then its area = 

(A) 14.09 

(B) 120 

(A) 10 

048. Add the decimal 5.23 + 8.79 

(B) 25 

(B) 346080 cm 

Q49. How many years in a decade ? 

(B) 0.006 

(A) 1 

Q54. 57, 50, 43, 36, ? 

(B) 14.19 

Q50. How many sides does hexagone has? 

(A) 29 

(A) 8 (B) 10 
O51. Find the area of a square field of side 225m. 

(B) 20 

(A) 20 (B) 25 

Q53. Find the value of 100000 - 99909 

H7 Moli 100000 - 99909 

(C) 160 

(B) 11 

(C) 6 0 

(B) 30 

(C) 0 

(C) 24 

(A) S0625 m' (B) 52625 m? 

Q52. Out of 80 students 24 passed. What is the percentage of pass student? 

(C) 346000 cm 

(C) 0.66 

(C) 14.11 

(C) 100 

(C)6 

(C) 53625 m? 

(C) 35 

(C) 91 

(C) 39 

(D) 150 

(D) 90 

(D) 24 

(D) 3 

(D) 346666 cm 

(D) 0.06 

(D) 14.29 

(D) 110 

(D) 12 

(D) none of these. 

(D) 30 

(D) 19 

(D) 28 
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055. Which number is divisible by 11 2 

HT 11 H 

(A) 9678 

(A) Kolkata 

(A) TeiaGT 

056. Where is headquarter of Northern Railway Located? 

O57. First train started in India. 

(A) 1851 

(A) Rajdhani Exp. 

(A) Delhi 

O58. Which is the fastest train in India ? 

(A) fot 

(A) Central Raiwlay 

(A) IGUr yeH (B) EÌ qHH 

(A) HEtà 

(A) South East Central 

(B) North Central 

? 

(C) East Central 

(B) 9537 

(D) West Central 

O59. Which of the following is the largest Railway junction in India? 

(B) Mathura 

(B) SI He 

(B) Churchgate 

(D) yfo cd 

(B) Ttte 

(B) 1852 

(A) 30 

(A) 30 

(B) Duronto Exp. 

Q60. Which Railway Zone is the largest Railway Zone in India ? 

(B) HyT 

(B) Ga à 

061. Which of the following zonal headquarters- city combination is incorrect. 

(B) 20 

(C) 11111 

Bilaspur 

(B) 20 

Jodhpur 

(C) Delhi 

(B) Northern Railway (C) Eastern Railway 

Hajipur 

(C) fe oeft 

Jabalpur 

(C) 1853 

fag 

(C) Tejas Exp. 

(C) Howrah 

(C) JqGT 

Q62. How many days of LAP can be credited to an employee in a year? 

(c) 10 

(C) 10 

(D) 1022 

(D) Mumbai Central 

(D) yAa 

(D) 1854 

(D) Vande Bhart Exp. 

(D) 4IRG YHAH 

(D) Sealdah 

(D) fYIGE 

(D) Western Railway 

(D) 15 

(D) 15 
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Q63. Where is Research, design and standard organization located? (A) Delhi 

(A) f¢ot 

(A) Kolkata 

(A) oroITI 

Q64. Where is headquarter of Southern Railway Located? 

a) SF- 11 

(B) f¢rft 
Q65. Who is the current Railway Minister of India? 

(A) Piyush Goyal 

a) Operating 

(B) Lucknow 

(A) 3t9RfT 

(B) T 

(A) Delhi 

(B) Delhi 

(A) fo 

(A) YH 5 11 (B) H y5 5 

066. Which standard form is issued for imposing major penalty? 

(B) 3fRqt turg 

(A) Raghuwar Das 

(B) Ashwini Vaishnaw (C) Suresh Prabhu 

b) SF-5 

b) Commercial 

(B) TRfUE 

(B) Mumbai 

(B) aZ 
Q69. What is the full form of RRB? 

(A) Railway Recruitment Base 
(C) Railway Recruitment Board 

(C) Bhopal 

Q68. Gate way of India is situated in which city of India? 

(B) dà TÁI fa 
Q70. Who is the current Govermor of West Bengal? 

(C) Bilaspur 

(c) faeRiy 

(B) GEHU 34 

(C) 

c) SF-11(b) 

(C) H y5 11(6) 

c) Mechanical 

(C) Hyderabad 

(C) IGTE 

(B) Lakshman Acharya (C) Maira Kumar 

(D) Banaras 

(C) 0RT HR 

(D) RH 

(D) Chennai 

(D) 

(D) Nitin Gadkari 

(D) Af SO 

d) SF-4 

d) IRCTC 

(D) H 5 4 

(D) IÉITidri 

(B) Railway Recruitment Bill 
(D) None of these 

(D) Chennai 

(D) g 

(D) 

(D) CV Ananda Bose 

(D) 341 
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071. What is the full form of RAC? 

(A) Reservation after 
Cancelation 

(A) Prime Minister 
Q72. Who is the supreme disciplinary authority? 

(A) WEjt 

(A) HIHA HHYT 

073. What is the full form of HRMS? 

(A) 10 

(A) 10 

(A) Human Resource 
Management System 

(A) 3 

(B) Reservation 
Against Cancelation 

Q74. How many days of paternity leave is allowed? 

a) Operating 

(A) 31Rf 

(B) VEG prt fIF (C) yfe T< 34TRETUT (D) s T0 

31RTUT 

(B) Chief Minister 

Q77. 1 Gibabyte is equal to 

(B) TH 

(A) 1024 bytes 

(B) High Railway 
Material System 

(A) Modified Assured 
Career Progression 
Scheme. 

(B) Sg Rà 

(B) 15 

(B) 15 

Q75. After completion of 5-years, Group-D employee are eligible for.. 
(C) 5 sets. (A) 3 sets. (B) 4 sets. 

(B) 4 Hc 

b) Safety 

(B) T 

Q76. which Railway department issues Disaster Management plan for Zone? 

(B) 1024 bits 

(C) Reservation after 
Confirmation 

(A) 1024 IST 

Q78. What is the full form of MACPS? 

(B) 1024 feH 

(B) Monitored 
Assured Career 

Progression 
Scheme 

(C) President of India (D) GM 

(C) 4TRT * guf (D) ofry4 

(C) Heritage Rail 
Management System 

(C) R tte 

(C) 20 

(C) 20 

(C) 5 te 

c) Mechanical 

(C) o1D 

(C) 1024 MB 

(C) 1024 H¥I 

(D) None 

(D) 25 

(C) Money Assured 
Career Progression 
Scheme. 

(D) 25 

sets of privilege passes. 
(D) 6 sets. 

(D) None 

(D) 6 E 

d) None 

(D) 

(D) 1024 GB 

(D) 1024 GfI 

(D) Modern 
Assured Career 

Progression 
Section. 
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(A) #atT 

(A) 120 days 
Q79. A female Railway Employee shall be entitled to maternity leave for? 

(A) 120 f 

Q80. Full form off GPS? 

(A) Global Point 
System 

(A) l4I yi_e 

Q81. Ctrl + W is used to 

Q82. How to close console? 

(B) 1f-e gus 

(A) Ctrl +C 

(B) 180 days 

(A) Open the save window 

Ctrl + W fY Gy IT ? 

(A) Crl +U 

(B) 180 f 

() fds a fy 

(B) Global Partial 

System 

(B) Gc yrfrA 

Q83. What is the shortcut key for underline? 

(B) Ctrlty 

(A) DCM 

(B) Ctrl +C 

Q84. Shortcut key for open My Computer ? 

(A) Window logo +E (B) Window logo + A 

085. What is the full form of OBHS? 

(B) Open a new file 

(A) Onboard Housekeeping Service 
(C) Online Housekeeping Service 

(C) 4 etug 

(C) 90 days 

(C) 90 fH 

(C) Global Positioning 
Society 

(C) Ctrl+F4 

(C) Ctrl + V 

(D) Tgf yRuT 

Q86. Who is the branch officer of Personnel department at Division level? 

(B) Sr. DCM 

(D) 135 days 

(C) Open a new window 

(D) 135 fT 

(C) Sr. DPO 

(D) Global Positioning 

System 

(D) 4G yoifiT 

(D) Alt+F4 

(C) Window logo + M 

(D) Ctrl + A 

(B) Onboard Hygiene Service. 
(D) None 

(D) none 

(D) Sr. DOM 

(D) None 
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(A) Sry 

Q87. Shortcut key for paste? 

(A) Ctrl +P 

a) Pre quota 
Waiting List 

Q88. What is the full form of PQWL? 

) o yteT 

(A) Godan 

(A) G 

Q90. Key board is a 

(A) input 

Q89. Which of the following is not written by Munshi Premchand. 

(A) 4ye 
091 UTS is used for? 

(A) DRM 

(A) `IITR4 

(B) Í1U SRÍYA 

(A) South Africa 

(B) Ctrl + V 

(A) HIAT 3t1 

094. Speaker is 

b) Pooled Quota 
Waiting List 

(A) input 

(A) $YE 

(B) Gaban 

(A) Unreserved ticket (B) Reserve ticket 

(B) TT 

device. 

(B) computer 

fsTEH? 

(C) Gitanjali 

(B) GYer 

(C) ftais 

(A) TRÍArT feoe 
Q92. Who is the Branch officer of Mechanical department in Division? 

(B) 3TRÍAT fc 

(B) ADRM 

(B) YÍIGRr 

(B) India 

(B) YRG 

Q93. Which team won the 9h ICC Men's T20 Word cup? 

.device. 
(B) output 

(C) Ctrl+K 

c) Present Quota 
Waiting List 

(B) 313Cc 

(D) HIHRar 

(C) storage 

(D) Mansarovar 

(C) FERG 

(C) Parcel booking 

(C) Sr.DME 

(C) Australia 

(C) 3F2fu 

(C) storage 

(C) FERG 

(D) Ctrl+A 

d) None 

(D) Hyr s4 

(D) outpur 

(D) 3TGTyc 

(D) None of these 

(D) Sr. DPO 

(D) Afganistan 

(D) 3A45 |fA 

(D) none of these 
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Q95 Who is the DRM of Sealdah Division ? 

(A) Sri Dipak Nigam 

(A) sT y fAr� 

(A) Pakistan 

(A) yifbGH 

Q96. The Maitree express connects India with which of the following country? 

(A) 45 days 

(A) 45 f& 

Q97. Period of appeal under DAR rules is ..... days. 

(A) & Y5 5 

(A) HEl+ 

(B) Sri S.S.Priyadarshi 

(A) SF 1 

(A) yHq5 1 

(B) Bangladesh 

Q98. Which form is issued to nominate investigating officer? 
(A) SF-5 (B) SF-7 

(B) 0eTT 

(A) 1949 

(B) 30 days 

(A) 21 

(B) 30 fH 

(B) çli+q 
Q100. What is the standard from used for suspension? 

(B) SF 4 

(A) 21 

(B) H Y5 7 

Q99. In computer which command is used for select all? 
(A) Ctrl+C (B) Ctrl+P 

(B) yHQ5 4 

(B) 1965 

(C) Sri Vipin Kumar 

(C) fT faft gHR 

(C) Nepal 

(B) 23 

(C) yra 

(B) 23 

(C) 15 days 

(C) 15 fT 

(C) SF-2 

(C) Y5 2 

Q101. In which year Hindi become official language of Union of India ? 
(A) 1949 (B) 1965 

(C) CtrltV 

(C) #çt+t 

(C) SF 7 

(C) yHy5 7 

Q102. When was official language act 1963 amended? 
(A) 1966 (B) 1950 

IyHTAT 31ef-4 1963 he HHIET E3TT? 
(A) 1966 (B) 1950 

Q103. How many language are recognized by the Indian Constitution? 

(C) 1971 

(C) 1971 

(C) 1967 

(D) None of these 

(C) 1967 

(C) 22 

(C) 22 

(D) Sri S.P.Singh 

(D) 50 days 

(D) 50 f 

(D) SF-11 

(D) H Y5 11 

(D) 

(D) CtrltA 

(D) çl+r 

(D) None 

(D) 198S 

(D) 1985 

(D) 1955 

(D) 1955 

(D) 24 

(D) 24 
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Q104. Which is the Union Territory classified under Region 'B" ? 

(A) Delhi 

(A) 10 May 

(A) feo (B) sa 

Q105. When is International Hindi Day celebrated? 

(B) 14 3ep 

(A) 1876 

(A) A 

(A) 10 H$ 

Q106. When was the official language rules passed ? 

(A) 

(B) Chandigarh 

Q107. In which region comes West Bengai ? 

(A) 1 

(A) One 

(B) 14 R 

(A) Yo 

(B) 2 

(B) 1976 

(B) 

(B) B 

(B) I 

(C) Ladakh 

Q108. How many Hindi Course are prescribed for Central Govt. Employees? 

(C) 3 

(C) �H 

(B) Two 

(B) 

(C) GRS 

(C) T 

D) 10 H, 1963 1 10 May, 1963 

(C) fH 

(C) 10 Jan. 

(C) 10 

(A) y# 

Q109. How many regions classified under official Language Rules ? 

A) 26 Hat, 1965 / 26 January, 1965 
B) 14 fHdR, 1949 / 14 September, 1949 
C) 05 T, 1955/ 05 June, 1955 

(C) 1949 

(C, C 

(D) Punducherry 

(D) 4 

(D) Z 

Q110. From when did the Sec 3(3) of official language Act take effect.? 

(C) Three 

(D) R 

(D) 5 April 

() 1955 

(D) ÎNo,A 

(D) Four 
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